=LPDB

*UXSD 5R]NiDG =/ - DU 7\J
N 7N 7\6] 7N 7\6]
T\ZQRGU QRZHI 3URIHNIRZDQIH ) = [HIHIND SHGIDINF]QD \
JHQHUDFIL GU . DSXGQIDN 3RGVIDZ\ DQDIJ\ XQLZHWDIQH PRGX: H]SIHETHEVIZR | *yUQIN +RIQ . DIRIQD =D 6]
_DPUD =DICFID RQ 1QH VHQURINFTQHI GU _ 6U 6IHPIRQ BUJHP\ViDZ KLILHQD T\ZQRGFL SIRI IGFIDRQUQH = / = [HIHIND
w/ - =/ -DSXGQON .DPUD =DICF SIRI 8- =DICFID RQ GUKDE .RiRT\Q ‘ E SHGLDIU\F]
: DRQUQH =/ = WH "/ = _UDIHZVND =DQXID =DICF QD *yUQN
i ’ DRQUQH =/ = +RUQ
o~ DICFLD GRGDINRZH ‘Bicp =
- 3URIHNIRZDQIH DICFID RQ
£ XQZHWDIQH PRGXd NI NI e
= Gl 6LHPLRQ 3U]HP\ViDZ el /=
=] i
= SIRI 8- =DICFID RQ URHNIRZD | |WHISHFIH 3URIHNIRZD
e tQH /= QH EVIZR L QH
= =DIGFID GRGDINRZH XQIZHWDIQ | |KLIHQD XQLZH(UBVE,’”Q
& H PRGX: | [T\ZQRGFL H G';’R Xi
n Gl SIRI Gl
6HPIRQ | [KDE 6LHPIRQ
3UJHP\VID | |.RRT\Q 3U]§ P\viD
Z'SIRI | |-UDHzVND g 'UR—lDACF
8-= =DICF| [=DQXID =D -~ =Dl
IDRQUQH | [ICFDRQ 1D RQ ILQH
=/ 0H - )
- / - -
N — =DICFID
=DICFID
GRGDINRZH GRGDINRZH
> 7N 7N 7N 7N
L 36: 2z %/ = JHNRDN iz &/ & /7 & "/ * IHIHINND SHGIDINFIQD *YIQI +RQ T\ZQRG QRZHI JHQHIDFL PJU = yiFIN ODIZIQD $
x %0 = &O & )/ 1)3 .0, 5= ,0, 52 _DIRIQD $% -7 o .20387(52:% 7\J $%
N - =/ - AN =/ - DU
=&" 0 z ‘ ‘
7\6] 7N
T\ZQRGU QRZHI JHQHUIDFL PJU = yiFIN ODIZIQD $% )
- = %H]SIHFTHEVIZR |
a KLILHQD T\ZQRGFL PJU
o 7N -DVIDN "RIRID $%
= 3UDZR T\ZQRGFIRZH L s
RFKIRQD NRQVXPHQID 6l
URTHN . XFKDUVND
ODJGDIHQD $%
/D
7N 7N 7N 7N
36: 2z %/ = T\ZIHQH NIQFIQH GU T\ZIHQH NIQIFIQH Gl 7N 1DG]y) VDQUDIOR HSLGHPLRCRJLF]Q\ P
> %0 = &O -DF]PDUF]\N 3[RIU =DIC -DF]PDUFT\N 3[Rl =DIC JU-DVIDN "RIRID $
I = 7 FDRQUQH =/ = FDRQUQH =/ = T\ZIHQIH DU
= =£"0 = NIQIFJQH G
a 7\G]
N
= 1DG]yU VDQUDIQR HSIGHPIRRILFIQN PJU -DVIDN
=/ -l

“RUIRID $




=LPDB
*UXSD S5RINiDG =/ -DU

7\J

= 7\6]
I 1DG]y
5 VDQUDUQR
ﬁ HSIGHPIRIR
N JFIQ\ PJ
o U -DVIDN
“RIRID $
/ -DU
7N 7N 7N
T\ZQRGU QRZHI ™ * LHIHIND SHGLDIF]QD 3UDZR T\ZQRGFIRZH L
JHQHUDFIL GU - DSXGQIDN PJUTDNTDQHID =DICFID RFKURQD NRQUXPHQID 6
-DPUD =DICFID RQ 0lQH = [HIHIND RQUWOH =/ = URTHN . XFKDUVND
w/ = "/ SHGIDINF] ODJGDHQD =DICFID RQ
: QD P 7\G] WH "/ =
TDN . ‘
o LHIHIND SHGLDINF]QD
MT,DQH"'D =D *yUQIN +RUQ . DURIQD =D ——
01%::10 RQ_ ICFIDRQUQH = / (GXNDFID T\ZIHQIRZD *yUQIN +RUQ . DURIQD $% -/
> _ N
T / = - =0y
=
Q 7N
n GIDINVINND Z GIHIHINFH GULQT 6]XID . DIDUJ\QD $
7] .20387(52:$% “/ DI
= IHIHINND
SHGLDI\F]
QD *yUQIN
+RUQ
-DIRIQD =
DICFID RQ
0WH -
/ -
o
o




